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3x5=15
3 times 5
3 groups of 5
3 lots of 5
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multiplier x multiplicand
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5+5+5

3 rows of 5
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5x3=15
5 times 3

Egmp5°f3
5 lots of 3

3+3+3+3+3

5 rows of 3
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Year 2
Division

dividend + divisor = quotient

Sharing
15+5=3
15 shared hetween 5
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There are 15 cakes to he shared
hetween 5 children. How- many
cakes each?

cee
coe
coe
coe
(R A

There are 5 groups.
There are 3 in each group.

Grouping
15+5=3
How- many groups of 5 make 157

Put 15 LntO'grmJ,ps of 5.

There are 15 cakes to he put into
hoxes, with 5 cakes in each hox.
How many hoxes are needed?
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3x5=15
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There are 3 groups.
There are 5 in each group.




